From: http://physics.nist.gov/constants

Energy Equivalents
Relevant unit
J kg m~! Hz

1] (1) = A Die? = (1 D/he = (A D/h =

1] 1.112650056... x 1077 kg 5.03411747(25) x 102 m~! 1.509 190 450(75) x 1033 Hz
lkg (kg = (1kg) = (Lkg)e/h = (1kg)c?/h =

8.987551787... x 1016 ] 1 kg 4.52443915(23) x 104! m~? 1.356 392 733(68) x 10°° Hz
Im™! (AmY)he= (Am YYh/c= (1m™1) = (Im )=

1.986445501(99) x 107257  2.21021870(11) x 10~**kg  1m~! 299 792 458 Hz
1Hz  (1Hz)h = (1Hz)h/c? = (1 Hz)/c = (1Hz) =

6.626 068 96(33) x 10734 J  7.37249600(37) x 1075 kg  3.335640951... x 1079 m~! 1 Hz
1K (1 Kk = (1 K)k/c? = (1 K)k/he = (1 K)k/h =

1.3806504(24) x 10723 J 1.536 1807(27) x 10740 kg 69.503 56(12) m~! 2.0836644(36) x 101° Hz
leV (leV)= (1eV)/c? = (LeV)/he= (1eV)/h =

1.602176 487(40) x 1071°J  1.782661 758(44) x 10736 kg  8.065 544 65(20) x 10° m~* 2.417989454(60) x 104 Hz
lu (1u)c? = (luw= (Iu)e/h = (1u)c?/h =

1.492417830(74) x 10719J  1.660538 782(83) x 102" kg  7.513006671(11) x 10* m~* 2.252 342 7369(32) x 10% Hz
1Eh (]. Eh) = (1 Eh)/C2 = (1 Eh)/hCZ (]. Eh)/hz

4.35974394(22) x 10718 J

4.850 869 34(24) x 10735 kg

2.194 746 313 705(15) x 107 m~!

6.579 683920 722(44) x 10'° Hz

The values of some energy equivalents derived from the relations E = mc? = he/\ = hv = kT, and based on the 2006 CODATA adjustment of
the values of the constants; 1 eV = (¢/C)J, 1lu=m, = %m(uC) = 1072 kg mol~!/Ny, and E}, = 2R.hc = a®mec? is the Hartree energy

(hartree).
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(A Dk =
7.242963(13) x 10*2 K

(1 ke)e?/k =
6.509651(11) x 103 K

(Am=Y)he/k =
1.438 7752(25) x 1072 K

(1 Hz)h/k =
4.7992374(84) x 1011 K

(1K) =
1K

(1eV)k =
1.160 4505(20) x 10* K

(1u)c?/k =
1.0809527(19) x 103 K

(1 Eyp)/k =
3.157 7465(55) x 10° K

Energy Equivalents
Relevant unit

eV u
(Irn= At =
6.24150965(16) x 10 eV 6.70053641(33) x 10° u
(1kg)e* = (1kg)=
5.60958912(14) x 103> eV 6.02214179(30) x 10?6 u
(Am=Y)he = (Am=Y)hr/c=
1.239841875(31) x 1079 eV 1.3310250394(19) x 10~1° u
(1 Hz)h = (1 Hz)h/c? =
4.13566733(10) x 10715 eV 4.4398216294(64) x 10~2* u
(1 K)k = (1 K)k/c? =
8.617343(15) x 107° eV 9.251098(16) x 10~ ** u
(1ev) = (1eV)/c? =
lev 1.073544188(27) x 10~%u
(1u)c? = (1u) =

931.494 028(23) x 10% eV lu

(1Ey) =
27.211 383 86(68) eV

(1 Ey)/c? =
2.921 262 2986(42) x 108 u

an=
2.29371269(11) x 1017 Ey,

(1kg)c? =
2.061486 16(10) x 1034 E},

(Im Yhe =
4.556 335252 760(30) x 1078 B,

(1 Hz)h =
1.519829 846 006(10) x 10~16 £,

(1 K)k =
3.166 8153(55) x 10~6 E),

(1eV) =
3.674932540(92) x 102 B,

(1u)c? =
3.423 177 7149(49) x 107 By,

(1Ey) =
1 Ey

The values of some energy equivalents derived from the relations E = mc? = he/\ = hv = kT, and based on the 2006 CODATA adjustment of
the values of the constants; 1 eV = (¢/C)J, 1lu=m, = %m(uC) = 1072 kg mol~!/Ny, and E}, = 2R.hc = a®mec? is the Hartree energy

(hartree).



